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1) All questions are COMPULSORY.
2) All questions carry Equal marks.

Q.1 In the scheme of Indian Penal Code, ‘culpable homicide’ is genus and murder
is species. All murder is ‘culpable homicide’ but not vice versa’. Explain the
distinction with reference to decision given by Melvill J. in Govinda'’s case.

OR

Write a critical comment on landmark decisions given by Supreme Court of
India with reference to ‘Protection and Rehabilitation of victims of Rape
Offences in India.

Q.2 “Nothing is an offence which is done in exercise of right to private defense.”
Elucidate the statement with the help of IPC provisions and recent case laws.

OR

What is doctrine of Mens rea? Explain with the help of illustrations and
recent case laws.

Q3 Case analysis (ANY TWO)
a) KM Nanawativ. State of Maharashtra, AIT 1962, SC 605
b) Revathiv. Union of India
¢) Rv. Prince
d) State Tr. P.S. Lodhi Colony New Delhiv. Sanjeev Nanda, AIR 2012, SC 3104
(BMW case)

Q4 Define ‘Bigamy’ and distinguish it from Adultery.
OR
Define ‘Robbery’ and explain when robbery becomes Dacoity.

Q5 Solve ANY TWO of the following :

a) ‘One ofthe accused, a police constable on duty beat the husband of the victim
and threatened to put him in police remand. The victim requested the Police
not to beat husband and surrendered herself for sexual intercourse with
consent’. Discuss liability of Police constable.

b) ‘A’ wanted to slap his wife. ‘B’ in anger. While hitting his wife he lost his
control and slapped his child who was in his wife’s arm. What offence ‘A’
did?

¢) ‘A’ was in love with ‘B’ and wanted to marry her. When it was known to her
brother ‘C’ he threatened ‘A’ with dire consequences. ‘A’ ran away with ‘B’
and got married. ‘C’ went to the house of A in the night and fired 6 times at
‘A’. A was admitted in the hospital in critical condition but he survived.
Discuss the liability of *C’.

* * * *




